@BO.ESTEPONA « MARBELLA

Estepona (E) (3 m) 9 Y Marbella (C) (2 m) )
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e Road traffic circulating on few occasions
A e Activities involving light vehicles and a kite-surfing area

e Wading through some watercourses

m Coastal Path, overlapping throughout

P 0 | N T X Y AEE)I\(/SEHS—L DISTANCE
1.Estepona (E) 308450 / 4033560 / 3m Km 0,0
2.Hornacinos stream Ferris Wheel 309385 / 4033700 / 4m Km 1,2
3.El Padrén river 311305 / 4034445 / 2m Km 3,2
4.E| Castor river 312105 / 4034950 / 4m Km 4,2
5.El Velerin tower 312860 / 4035635 / 7m Km 5,3
6.Guadalmansa tower 314905 / 4035940 / 2m Km 7,6
7.Guadalmansa river 315660 / 4035995 / 1m Km 8,5
8.El Saladillo dunes 316015 / 4036100 / Tm Km 8,8
9.Saladillo tower 317035 / 4036810 / 4m Km 10,1
10.Guadalmina river 320355 / 4036890 / Tm Km 13,7
11.Roman baths and tower 321490 / 4037735 / Tm Km 15,2
12.Guadaiza river 323275 / 4038990 / Om Km 17,5
13.Puerto Banus 325060 / 4039860 / Om Km 19,8
14.Verde river 325770 / 4040515 / 1m Km 20,9
15.Anc6n tower 326960 / 4041190 / 5m Km 22,3
16.Marbella (C) 329730 / 4041825 / 2m Km 27,1
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